+ 60g + 30g = 10q

- Does this shape tessellate? s A
« Tm 34em = 134 em

O X G =850 20 2 6=
bxb=245024+ 4=
1of18=_9_

. What time is [B°85] in analogue
o5 o e

N e -
\l v =
B. 65
_x:6

M W M

- O

s

form?

9. What fractmn is

not shaded? = E
10,

\\J Write the next two terms.
42 91 849 86 82, 1H#. ”1_3_

i1 6130
BEW - i

12. 4 x5)+100= 110
:_.C'

13. There are 34 bananas in a box.
How many bananas are in

6 boxes? 20 ,

14. Mammy divided a pizza into
10 equa! slices. Mark ate 3 slices.
What fraction was left? -L

15. Jack started pia,

PR |

Tuesday

. Round 436 to the niearest 10, M

2. 159c =€ .59
1, Which has mare ared '-_f-h'j'"?i"'d' . ,;
Ix3ard = 47 ' : ?x
| -
45:-<?—355n35 5-—_'I.=_. i
7x5=355035% W
mm.ooo@ _
6 5.4
. Colour m 1
of the circle.
7. Which two 2-D shapes rnok:e a 6.
cylinder? (* !CE-[E : & -
8. 67
x'5 ‘
9. Arrange these decimals in order of

size, starting with the hurgest

0-4, 07, 0-6. ?f_@ agi

11. l;. of @ number is 6.

What is the number? ZLL

qx@:sﬂ

12,




Wednesduy

1 1_2,1 hours = G} minutes
7 6X}'=42$042—:-6= __1__
?x&=425042—l-?: F

3, 60cm + 7cm + 400cm = LLEJL'.-H
4. What is the 7th month of ¢,, year?

5, Write tée next 3 terms in

this sequence:

8. A triangular prism has ) faces

and Ei edges,

9. if é- of a number s 5, what is the

number? 4O
10.. 6:x BEN = 36

2
11. 4kg 380g
— 2kg 290g

12. Circle the 4 that has the @2__3
greatest value. 56-4 24-3 ’

",
12.

- Write the Next 3 terms in

this Sequence:

%37, 3, 21, O e iy

: H'% G number s 35,

what is the number? 10

; %{ 0-8. True or false? Jre :

sy

G o 4
What is the missing digit? S

8x £ =48




3. 130 minutes —
minutes

& Ax 3 =20 so0 27 - 9= =N

5. €365 = @@@@@
6. 409 = NN v IS - I

7. Write the follﬂwrng time in nnn[

form: m 25 to
8. Colour z of the @@ Q
ba[Ioons red. Q

9. 26 + 5= S

hours

0gue

10. Write the next 3 terms in this
3
sequence: 2 2—, e

1
13. if of g Mumber js 7,

whut s the number? Sen
14. A trangular prism has
5 face(s) angd g
15, €493
+_€_2~_3_4

16. 41 -5y, q

edge(s).

1805 a <
What is t%w: missing digit? _ &

19. 3kg 5004 - 2kg 250q = 1%503

Prﬂ;blerns

21. The teacher had 81 sweets,

She divided th’em equally among 9 children. | | 3

How many did each child g@? j_ :

kg sugar c@xts 659 - s

e i e e NN R T T

T

S e



